Mount Lawley Primary School





ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Monday 18th December 2023 Using "D7T4" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

If you place your order on or before Monday 18 December 2023 it will be dispatched FREE OF CHARGE no later than the week ending 19 January 2024.

Orders placed after 18 December will incur a late fee of up to \$8.00. Please ensure you allow sufficient time for delivery prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided \

		Item	☑ Item	Qty	Unit	Total
Office Use	Description	No.	Reqd	Reqd	Price \$	Amount
	Year Five					
	PLEASE SELECT OPTION A OR INDIVIDUAL ITEMS IN OPTIO	NB				
	Option A					
P77233	Mount Lawley Primary School Year Five Pack COMPLETE YEAR FIVE STATIONERY PACK WITH REDUCED PRICING.	1		1	90.00	90.00
	Retail Price: \$106.05					
	Cost Saving: \$16.05					
	Resource List Special Price: \$90.00					
	OR Option B					
	OPTION B - SELECT INDIVIDUAL ITEMS BELOW					
P50130	Glue Stick UHU 40 gm	2		3	3.35	10.05
P50154	Compass Maped Study SY120 Metal with Pencil	3	$\overline{}$	1	3.95	3.95
P55492	Document Wallet FC Slimpick Blue	4		1	1.10	1.10
P50281	Document Envelope A4 PP With Press Stud Clear	5	$\overline{\Box}$	2	1.25	2.50
P50362	Eraser Staedtler Mars Plastic 526-50	6		2	4.40	8.80
P56291	Marker Artline #70 Bullet Point 1.5mm Black (Xylene Free)	7	<u> </u>	1	4.75	4.75
P52150	Markers Connector Pens Wallet 14 Art Assorted	8	$\overline{}$	1	9.50	9.50
P51157	Highlighters Pkt 4 Micador ECO	9	$\overline{\Box}$	1	3.50	3.50
P50960	Paint Watercolour Micador Colourfun Set of 12	10		1	7.20	7.20
P51071	Pencil (HB) Tradition Box of 12	11		1	9.15	9.15
P50208	Pencils-Coloured 12's Columbia	12		1	2.85	2.85
P56215	Pencil Case 340x170mm Tartan Jumbo	13		1	3.25	3.25
P56081	Marker Artline #200 Black 0.4mm	14		1	3.80	3.80
P56115	Marker Artline #210 Black 0.6mm	15		2	3.80	7.60
P56095	Pen Ballpoint Cap Type Blue Medium	16		4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	17		4	0.35	1.40
P56156	Pen Pilot Frixion Blue Erasable	18		1	5.20	5.20
P56353	Protractor 10 cm 180 4" Half Circle	19		1	0.45	0.45
P50346	Ruler 300mm Plastic Ridge	20		1	3.45	3.45
P53144	Super Size Project Book 320x235 64pg 8mm Spirax	21		1	4.05	4.05
P56242	Sharpener Pencil Barrel Double Hole (EL)	22		1	2.10	2.10
P52551	Whiteboard Markers Fine Bullet Dry Erase Crayola 4 Assorted	23		1	8.75	8.75
P51072	Whiteboard Eraser Mini Magnetic	24		1	1.25	1.25
	Document Wallet Slimpick Blue is for Technologies 1 x Document Envelope Red is for Music					
	ADDITIONAL ITEMS REQUIRED					
	THE ITEMS BELOW ARE NOT IN THE STATIONERY PACK. PL	EASE	SELECT A	AS REQUIF	RED	

25 🔲 1 27.75 27.75

P16578

Jolly Grammar Pupil Book 5: In Print Letters

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$					
	Maths		Choose One								
	Please select ONLY ONE of the below Maths Workbooks - as advised by your child's teacher.										
P33755	Mathematics for Australia 4 Write-On WB (Print & Digital) 2E [Haese & Sawyers]	26		1	29.70	29.70					
P19347	 OR - Mathematics for Australia 5 (Text/Digital) 2E [Haese] OR - 	27		1	52.80	52.80					
P14714	Mathematics for Australia 6 (Text/Digital) 2E [Haese]	28		1	59.40	59.40					
P50622	Attache File A4 Barkode Top Load Aqua	29		1	8.25	8.25					
P55259	Calculator Sharp Basic EL-243S Solar	30		1	11.50	11.50					
P55099	Lever Arch File A4 70mm PVC Dark Blue	31		1	9.05	9.05					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	32		1	14.05	14.05					
P55320	Clipfolder A4	33	<u> </u>	1	4.70	4.70					
	(may be retained from previous year)		_								
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	34		1	9.55	9.55					
	(may be retained from previous year) (For ART)		_								
P50575	Display Book A4 40 Pocket Insert Cover Black Non-Refillable	35		1	5.45	5.45					
	(may be retained from previous year)		_								
P50950	Display Book A4 40 Pocket Insert Cover Green Non-Refillable	36		2	5.45	10.90					
	(may be retained from previous year) (1 For ITALIAN)		_								
P50839	Display Book A4 40 Pocket Insert Cover Red Non-Refillable	37		1	5.45	5.45					
	(may be retained from previous year)		_								
P55687	Headset Multimedia With Volume Control	38		1	17.95	17.95					
	(may be retained from previous year or headset of choice)		_								
	Choose LEFT or RIGHT handed scissors		Choose One								
P51334	Scissors 170mm Noris Club Hobby	39		1	2.95	2.95					
	(may be retained from previous year) - OR -		_	·	2.00	2.00					
P50288	Scissors 158mm Kaicut/Osmer Left Handed (may be retained from previous year)	40		1	4.95	4.95					
F60365	Mount Lawley PS 2024 Student Diary (Pre-Order)	41		1	10.00	10.00					
1 00000	(Please provide payment to Campion and school will distribute)	41	ш	'	10.00	10.00					
F60354	OPTIONAL: Mount Lawley PS 2024 Yearbook (Banksia) Pre-order	42		1	37.00	37.00					
. 0000	(Please provide payment to Campion and school will distribute)	72		'	37.00	37.00					
	SCHOOL CONTRIBUTIONS										
F52108	School Voluntary Contribution Per Child	43		1	60.00	60.00					
	P & C CONTRIBUTIONS										
	Please select ONE of the options below		Choose One								
F52109	P & C Voluntary Contribution 1 Child -OR-	44		1	100.00	100.00					
F52110	P & C Voluntary Contribution 2 Children -OR-	45		1	150.00	150.00					
F52111	P & C Voluntary Contribution 3 or More Children	46		1	200.00	200.00					

PARENTS TO SUPPLY

1x Library Bag (Can be purchased from School Uniform Shop at a cost of \$8.00, or retain from previous year)

Please tick the items required in the box provided

ESTIMATED AMOUNT DUE

(PRICES CORRECT AT 08/11/23)

☑ Item

Reqd

<u>\$</u>

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked:

Postage (Home delivery only) \$0.00

Office Use

Description